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1.2
1.2

 p max = 420 bar

 V max = 2x115 cm3/U

 V 30 D D 7960
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2.

N =  NBR ( )
E =  EPDM
V =  FKM ( ) 

S =  

: 0 =  
1 =  

1 =  
2 =  

(1. 2. )

(cm3/U)

(l/min)

 pNenn (bar)

p max (bar)

 p max (bar)

095 115

96 115

139 167

350 250 1)

420 300 1)

1,0 1,0

V 30 Z - 095/095 R S N - 1 - 1 - XX/LLSN - LN -   /100/90 - 200/150
V 30 Z - 115/095 R S N - 1 - 0 - XX/N - L - 2/     -/60 - 350/-
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1)

2)

3)

4)  (-1-2) 

5)

L = 
R =  

 (bar)  3)
(1.  / 2. )

 (Nm)  2):

 (min-1)

(1.  / 2. )

  2):
1 = 
2 = 5)

 2

115/115; 115/095; 095/095; 

1. 2. 
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1)

 L  Lf1 LS, LSN 1)

 N  P Pb

 Q  Qb
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V 30 Z 

 N, P, Q, Qb, LS, LSN

1. 2. 
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Vg = (cm3/U)
|p =  (bar)
n =  (U/min)
ηv =
ηmh =

η (ηt =  ηv x ηmh)
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3.
3.1.

 10,   1000 mm2/s;  10 ... 35 mm2/s.

-40 ... +60°C 
  -25 ... +80°C, 

 DIN ISO 4406

095 115

 (°) 17 20

(bar) 0,85 0,85

 (U/min) 2200 2000

 (U/min) 2900 2800

(U/min) 500 500

(h) 17000 10000

(Nm]

 (S)  1200 1200
(S) 100 100

 (dB(A)) 75 75

(

1m) 

095/095 115/095 115/115

(Nm) 306 338 370

 250 bar  (kW) 128 141 154
 1450 U/min 

kg 120 120 120
135 135 135

(kg m2) 0,0432 0,0432 0,0432

.
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 75 mm2/s

3.2.

1500 U/min 

095/115 = 99 Nm
15 kW / 

1500 U/min

 Q:

Q =                    (l/min)
A =   (mm2)
|p =  = 10 bar (LS =  30 bar)
C =  0,6

a)
 (< 3%)

b) (< 1%)

pAC ∆⋅

L  Lf1:

N, P Pb:

 Q, Qb LS:

 Q
 (%

)

Q
 (%

)

 Q
 (%

)

 p (bar) 

 p (bar)

T 1
(m

s)
 T

2
(m

s)
 (%

)

 p (bar)

 p (bar)

 (%)

Ss =  
Tu =   < 3 ms
T1 =  
T2 =  
p =  

 0,15 cm3/bar (1,5 m
NW 20 )

 p (bar)
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4.

5.

D =   G 3/4
E =  G 1/4
M =  G 1/4
X(LS) =   G 1/4

1 1/4“ (6000 psi)

X

M14, 22 

M12, 18 

M16, 24 

SAE 3” (3000 psi)

SAE-D 13T-8/16 DP

 SAE-A
9T-16/32D8

M10, 20


